Mathematics – Algebra EOC

Curriculum Development and School Improvement- Secondary

MA.912.A.3.9 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. An engineer designed a handicap ramp for City Hall.  The relationship between the height of the ramp and the length of the ramp is modeled by the equation
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Which of the following represents the slope of the equation?

A.  
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2. What is the y-intercept of a line with an equation
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F. 
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3. What is the slope of a line with an equation
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A.  -3
B.   0
C.   3
D.  undefined
4. During math quiz, Angela was given the equation of a line as shown below.
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What is the x-intercept of the line?

	
	
	
	
	
	
	


5.  The Great American roller coaster has a climb of 120 feet before its first main drop.  Below is a diagram of the coaster as it leaves the gatehouse towards the first drop.
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What is the slope of the line between the two points?
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